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RULE 10: ENFORCEMENT OF PENALTIES QUESTIONS

e Second and seven from A-4 yard line. A12 retreats into the end

zone to attempt a pass. A12 is tackled in the end zone by the
facemask. The next play will be:

The basic spot for a foul committed during a loose-ball play is the?

Team K punts the ball across the expanded neutral zone, and during
the kick, Team R holds Team K. Team R is the next to put the ball into
play. The basic spot is the?

Third and two for B-40. Running back A-21 receives the handoff and
runs up the middle to B-35. The Line Judge and Umpire blow their
whistles as the pile begins to move backwards. B-22 runs and jumps
on top of the pile after the whistle. What is the basic spot.

First and goal at the B-7. RB A-21 receives a hand-off at the B11 and
runs for a touchdown. WR A-82 holds B-10 at the two yard line. The
next paly will be:

First and goal at the B-7. RB A-21 receives a hand-off at the B11 and
runs for a touchdown. WR A-82 holds B-10 in the end zone. The next
paly will be:

Second and 20 from B-45. QB A-15 throws a pass to A-21. During
the pass, B-3 holds and interferes with A-21 at the B-30 yard line.
The pass falls incomplete at the B-30. The next play is:

Second and four at B-20. A1 throws a pass that is intercepted by B20
at the B-5. After the interception, B70 illegally blocks A20 in the back
at the B-25, A90 grabs and pulls B21-s facemask in an attempt to
tackle him at the A-45, and B55 holds A15 at the A10. B21 scores a
touchdown. The next play is

First and ten at A-20. QB A1 is sacked at the 15 yard line. Guard A54
holds B90 at the A-16. The basic spot is:

Third and goal from B-9. RB A21 takes the hand off and runs into the
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endzone for a touchdown. During the run Tackle held B50 at the
B-13. The basic spot is the

First and ten at the A-40. QB A1 hands the ball to RB A21 at the 36.
A21 runs to the A-45 where he is tackled. During the run, A79 held
B20 at the A-38. The next play will be:

First and ten at A-6. QB A1 drops back to and pass and begins to
scramble in the endzone under a heavy rush. RT A75 holds B99 in
the endzone. A! Runs to the A-10 where he is tackled. The next play
is:.

First and 10 at A-20. B1 grabs and twist A21’s facemask at the A-15.
A21 continues to run and is tackled at the A-25. The next paly will be:

First and ten at the A-20. RT A75 holds B99 at the A-10 and RB A21
is tackled at the A-16. After the covering officials blows the whistle,
B21 jumps on the pile late; The next play is:

Third and 5 at the B-10. QB A1’s pass is intercepted in the endzone
by B2 and he advances to the B-10 where he fumbles. The ball rolls
to the 2 yard line where it is recovered by B20. During the fumble,
B40 held A35 at the B-4. The basic spot is:

Third and goal from the B-4. Running back A21 runs a sweep to the
right and runs untouched in the end zone for a touchdown, 4 yards
into the end zone B30 forcibly knocks A21 to the ground. The next
play will be:

Second and seven at the B-40, QB A1 throws a pass that is tipped by
A22 at the B-10. The ball is intercepted by B20 at the B-4. B20 was
running toward his end zone at the time of the interception. A22
tackles B20 in the end zone: Next play is:

Free Klck: K1’s kick is low to the ground and strikes R20’s knee in an
attempt to catch the kick. The ball rolls out of bounds at the R-35.
What are Team R’s options on where the ball will next be put into

play?

First and ten from the A-20. QB A1 drops back and throws a
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completed pass to A2 at the A-30 where he is tackled. After throwing
the pass , B99 picks up A1 and forcefully drives him to the ground.
The next play is:

What are the four fouls that carry an automatic first down using the
NFHS rules?

What are the four fouls that carry a loss of down in their statement of
penalty using NFHS rules?

First and ten at the A-20. QB A1 drops back and throws a completed
pass to A2 athe the A-25 where he begins to run. While being tackled
at the A-30, A2 fumbles the ball and the ball rolls out of bounds at the
A-32. After throwing the pass, B99 picks up A! And forcefully drives
him to the ground. The next play will be:

First and ten at the A-20. QB A1 drops back and throws a completed
pass to A2 athe the A-25 where he begins to run. While being tackled
at the A-30, B3 grabs and twists A2’s facemask and A2 fumbles the
ball. The ball is recovered by A21 who runs to the B-20 where he is
tacked. The next play will be:

Free kick at the K-40. With 1:05 remaining in the 4th quarter. Team K
trails Team R 14-17. Team k’s kick bounces at the K-45 and goes
untouched out of bounds at the 50 yard line. The best option for
Team R would be:

Third and five from the A-6. QB A1 Is under pressure and retreats
into his endzone. Instead of being tackled he throws a pass from
inside the free-blocking zone into an area with no eligible receivers.
That does not cross the line of scrimmage. The next play will be:

Bonus Question: A, 3/5, B-10. QB A1’s pass is intercepted in the
endzone by B2 and he advances to the B-6 where he fumbles. The
ball rolls into the endzone where it is recovered by B-20 who is on the
ground. During the fumble, B40 held A35 at the B-4. The next play is?



